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1. When someone once asked Bill Miller, president of EmCare, a leading emergency
medical care management group, what it took to be an effective leader, his
response was “Great team members” What does this response mean? (1043

2. Suppose that a leader’s style doesn’t seem to match the situation. Can a leader’s
style change to produce a better match? What does Fiedler’s theory say about that
possibility?(10 43} .

3. If an organization has managers with all four problem-solving styles, what
diversity issues does this pose for employees? (1043 _

4. How does the behavioral intentions model help explain that attitude-behavior
relationships sometimes may appear to be weak and at other times may appear to
be strong? (10 43) _

5. How could a manager apply ERG theory to motivate employees?(10 43)
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Please number the items on your answer sheet.

English

L Structure and vocabulary (50%)

Part (A): In questions 1-10 each sentence has four underlined words or phrases. The four
underlined parts of the sentence are marked (A), (B), (C), and (D). Choose the one underlined word
or phrase that must be changed in order for the sentence to be correct. (20%)

1. The singer-actor Lyle Lovett is ten years older than Julia she married him in 1993, but they

A ‘B " C
.split up after less than two years.
2. SLDce then, Roberts has appeared in fourteen films. Most recently,.“M'y Best‘ Friend's Wedding"
ggi "The Conspiracy ’Il'?lcory." ©
3. O_'IIIA:;X afterw_ard, when her cancer was finally dbgtcrated, (i(j)cs she % t'o go downhill.

4, Conceiving a child has become an expensive and stressful ordeal, but assisted fertility treatment s
A _
developing over the last two decades have made parents out of couples who once had little hope.

B : : C D .
5. In addition to the child-care industry, a number of service businesses has formed to fill the

: A B C |3
gaps for families with two busy commuters. . . :

6. The El Nifio effects on climate and socioeconmics have seen all over the world, and research

A B
into this complicated climatic condition is intensifying.
C ‘D
7. Coffee contains caffeine. furthermore, chocolate, tea, and cola also contain significant amounts

A B C D
of caffeine. '

8. Scientists believe that by altering the genetic composition of plants it is possible to develop

A
specimens that are resisting to disease and have increased food value.
B C D
9. After putting a worm on my hook, the fish began to bite,
A . B C D
10. Archacological investigations indicate that control of fire is an extremely old technical
A B
attainment, though the time, place, and mode of his origin may never be learned.

D

‘Part (B): Questions 11-25. Choose the best answer that matches the underlined words {phrases) or

completes the sentence. (30%)

- 11. A group of workmen from City Hall congregated outside my school office window.

A, worked B. stood C. assembled D. talked
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12,1 immediately noticed a number of cigareite butts and beer bottle caps strewn over the ground.
A.  scattered B. left . C. lying D. dumped

13. The negative of the environment disaster were apparent for many years afterwards.
A, results - B.influences C. consequences  D. outcomes

14, The Minister : to see the leader of the striking workers,

A. rejected B. turned down  C. denied " D. declined
15. The patient was in a condition and had to be transferred to Intensive Care 1mmcdlate1y
A, significant B. critical C. vital - D. impertant
16, The patent attorney has to carcfully the paperwerk for mistakes.
A. scrutinize B. remise C, collect D. revise
17. It seems that the wolves would attack me for having been agitated by the tricks.
A. hard B. impossible C. impolite . D. inevitable

18. No on¢ knows exactly what sets off the immune system in heart patients; it could be fatty
deposits or bacteria, etc.
A. the cause that makes the immune system attack
B. the reason that the immune system stops its attack
C. the best way to work against the immune system’s attack
D. the solution to the immune system attack

19. Folic acid, already known to prevent certain types of birth defects, is emerging as the leader of
the vitamin pack in protecting against heart disease.
A. seems to be a vitamin that does not help
B. seems to be one of many useful vitamins
C. seems to be the most important vitamin
D. has become the most important vitamin

20. Children usually of sleepwalking by the time they become adolescents.
A. getout B. grow up - C. get away D. grow out
21, Little Inna would seal these meat pies on a wooden board while Grandmother presided over the
boiling oil,
A.pressed downon . B. watched out for
" C. lit the fire under D. removed

22. Little children were listening to the story happily and distractedly.

A. clearly B. intentionally C. carefully D. absentmindedly
23. One firewalker who had not prepared properly spiritually and mentally was so badly injured that
both legs had to be
A, amputated ‘B. amp amplified C. lamed D. paralyzed

24. English prevails in transportation and the media.”
A. exists _ B. preserves C. predominates  D. supplements
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25. Polygraphs the changes of heart rate and breathing rate. If there are many such changes, an
examiner may deduce that a subject is lying. '
A alter B. detect C. recount D. detain

IL Cloze test: Quesﬁbns 26~35. Choose the best answer that completes the sentence. (20%)

(1) The English language first (26) from the Germanic branch of the Indo -European languages.
One of the major changes in the language from Old English to Middle English was the _(27) . of
French words into the language.._(28)  the shift from Middle to Modern English, spelling and
grammar rules were introduced to standardize usage. Writers who supported this _(29)_ofthe
language held the opinion that, (30)_ to Latin and French, English was inelegant due to its lack of
rules. These writers set down prescriptive rules of grammar and spelling for others to follow.

(31} , some modern linguists argue that grammars should describe the actual usage of the language
rather than force rules upon native speakers of the language. The debate between prescriptive and
descriptive grammar continues.

26. A. has developed  B. is developing C. develops D. developed

27. A, influx B. immigration C. induce D. indulgence

28. A. Among B. During C. When D. Because

29, A. introduction -~ B, shift C. usage D. standardization
30. A. compared B. similar C. comparing D. identical

31. A. Consequently B, However C. Similarly D. For instance

(2) The word scuba stands _(32)  Self-Contained Underwater Breathing Apparatus. Scuba diving
equipment allows a diver to breathe under water for an extended period. Scuba diving is _(33) to

'learn, A few days in a certification program is usually sufficient to make a first dive. Scuba diving
should be practiced _(34)  because there are hazards involved. Buddies can make sure their
partners are not disoriented after entering the water. There are some situations that can be dangerous.
Certain denizens of the ocean, like the sea snake, should _(35) .

"32.A.t0 B.on C.in D. for

33, A. relatively easy  B. extremely hard C. comparatively hard  D. relatively comfortable
34, A. responsively ~ B. respectively ' C. resplendently D. responsibly

35. A. overlook B. be avoided C. avoid D. be overlooked -

1L Reading comprehension: Questions 36~50. (30%)

, (D) Questions 36~41
One of the most dangerous drugs for pregnant women to consume is
alcohol, Because alcohol is delivered quickly into the blood and passes
. quickly into the tissues and membranes, the human fetus is particularly
Line  yylnerable to its effects, In fact, the negative effects on a fetus are 5o
(5}  pronounced that babies bom after exposure to alcohol are said to be
suffering from fetal alcohol syndroime. . :

As a pregnant womnan drinks alcohol, the alcohol is passed into her
her bloodstream almost simultaneously. Moreover, because the
bloodstream of the fetus is inextricably tied to that of the mother,

(10} the alcohol passes directly into the bloodstream of the fetu s as well.
And, what is more, the concentration of alcohol in the fetus is exactly -
the same as in the mother.
For the mother, this concentration is not a problem because her liver
(I5) <canremove one ounce of alcohol from her system per hour. However,
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the fetus's liver is not completely developed (how developed it is
depends on its stage of development). The rate at which it is able
to eliminate the alcohol from the blood of the fetus is much slower.
Eventually, the alcohol will be returmed to the mother's system by
(20) passing across the placenta, but this process is slow. By the time
this takes place, major neurological damage may have already
accurred. Research has shown that as little as one drink of
alcohol can produce significant, irrever sible damage to the fetus.
Babies born after exposure to alcohol generally exhibit facial distortion, inability to
(25) concentrate, and difficulty in remembering. Simply speaking, it is imperative that
pregnant women avoid alcohol. ’

36, What is the main topic of this reading?

(A) Women and drugs (B) The dangers of pregnancy
(C) The fetus and alcohol (D) Drinking and the human body
37.In line 9 the word "inextricably" most nearly means
(A) unexplainedly (B) formerly
(C) forcefully ‘ (D) inseparably
38. According to the passage, how does the concentration of alcohol in a fetus compare to that in the
mother?
(A) The concentration is more. (B) The concentration is Iess.
(C) The concentration is equivalent. (D) The concentration cannot be measured.

39, It can be inferred that the development of a fetal liver depends on
(A) how many months pregnant the mother is
(B) how much alcohol the mother has consumed
(C) how large the fetus is
(D) how well the mother has taken care of the fetus

40. According to the passage, how is alcoho!l finally returned to the mother's system?
(A)it is carried through the bloodstream  (B) it is transferred across the placenta
(C) it is expelled by the fetus's liver (D) it is not completely returned

41. At what place in the passage does the author discuss the quantity of alcohol necessary to
produce negative results? '
(A) Lines 2-3 ' (B) Lines 11-13
(C) Lines 21-22 (D) Lines 24-25

(II) Questions 42~44

There is no such thing as a safe drug. Each medication is a double-edged sword, with a good
side and a bad side, Successful medical treatment is a careful balance between the beneficial and
harmful effects of medication, weighted one hopes, in favor of the beneficial, Unfortunately, just
the opposite is often the case. The original disease may be less of a problem than the reaction to
treatment, and the old dictum "The cure was worse than the disease” has frequently been all too
true, ' :
Too many drugs are prescribed in our piil-popping society. The evidence that we are
overmedicated is overwhelming, Americans spend about $11 billion on prescribed medications gach
year, and that does not include the $2.6 billion we shell out for nonprescription, over-the-counter

4
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phairmaceuticals. According to a study carried out in twenty-four Boston hospitals, more than 75
million Americans consume a drug at least once a week and usually every day. Is it any wonder that
drugs are killing us faster than automobile accidents or certain major diseases?

42. The tone of the passage indicates that the writer is o
(A) Mildly disdainfut ‘ (B} Highly critical
(C) Guardedly respectful (D) Somewhat offended

43, The author cites expenditures of "11 billion" and "$2.6 hillion" as evidence to support the
opinion that
(A) Americans consume unhealthy amounts of prescription and over -the-counter drugs
(B) Doctors often prescribe drugs in situations where adverse side effects may result
(C) Reactions to drugs are often more severe than the symptoms of the disease itself
(D) It is impossible to achieve a balance between the beneficial and harmful effects of drugs

‘44, The author cites a study that supports which of the following statements?

(A) Each medication is a double-edged sword, with a goocd side and a bad side.
(B) The original disease may be less of a problem than reaction to treatment.
(C) More than 75 million Americans consume a drug at least once a week,

(D) Too many drugs are prescribed in our pill-popping society.

I Questions 45~50
Glacier Naticnal Park in Montana shares boundaries with Canada, an American Indian

reservation, and a national forest.  Along the North Fork of the Flathead River, the park
also borders about 17,000 acres of private lands that are currently used for ranching,

Line timber, and agriculture. This land is an important part of the habitat and migratory routes

(5)  for several endangered species that frequent the park. These private lands are essentially
the only ones available for development in the region. '

With encouragement from the part, local landowners initiated a land -use planning
effort to guide the future of the North Fork. The park is a partner in an interlocal
agreement that calls for resource-managing agencies to work together and with the more

(10)  than 400 private owners in the area. A draft plan has been prepared, with the objective of
maintaining traditional economic uses but limiting new development that would damage
park resources. Voluntary action by landowners, in cooperation with the park and the
county, is helpihg to restrict small-lot subdivisions, maintain wildlife corridors, and
minimize any harmful 1mpact on the environment.

(15) - The willingness of local landowners to participate in this protection effort may have
been stimulated by concerns that Congress would impose a legislative solution.
Nevertheless, many local residents want to retain the existing character of the area,
Meetings between park officials and landowners have led to a dramatically improved
understanding of all concerns.,

45. The passage mainiy discusses .
(A) the endangered species in Glacier National Park
(B) the protection of lands surrounding Glacier National Park

wb 5 85 %




P REX [(AEmELERa]

BEPLRSAF O FRALHALAARE

x Lrwl x

{(C) conservation laws imposed by the state of Montana
{D) conservation laws imposed by the Congress

46. Why are the private lands surrounding Glacier National Park so important?
(A) They function as a hunting preserve.
(B) They are restricted to government use.
(C) They are heavily populated.
(D) They contain natural habitats of threatened species.

47. The word “ones” in line 6 refers to ‘ .
(A) private lands (B) endangered species
{C) migratory routes - (D) ranching, timber, agriculture

48. It can be inferred from the passage that a major interest of the officials of Glacier National Park
isto : ‘
(A) limit land development around the park
(B) establish a new park in Montana
(C) influence national legislation
(D) settle border disputes with Canada

49, In lines 15-16, the author impties that landowners might be responding to environmental
concerns for which of the following reasons?
(A) They wish to stimulate economic growth.
(B) They wish to improve their public image.
(C) They have a tradition of cooperating with the government.
(D) They fear federal legislation, '

50, Where in the passage does the author mention the purpose of the plan developed by local
landowners and park officials?
(A) Lines 1-2
(B) Lines 4-6
(C) Lines 10-14
(D) Lines 15-17
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